
Version 2

Endeavour Energy

Pole Mounted 
Transformers

Version 3



www.ars.com.au2

What we do

Wholesale
Wholesale supply of a comprehensive range 
of products for the electrical/energy industry, 
including exclusive items. (Did we mention 
competitive prices?)

Online and over-the-phone order
Buy common-use/day-to-day items online 
and over the phone.

Expert assistance
You can call up and speak with a salesperson 
who understands your industry.

Full-scale project quotes
We also do in-depth quotes on full-scale 
projects/tenders.



3Endeavour pole-mounted transformers

Contents

04	 Transformers

06	 ARSemblies - urban pole constructions

08	 ARSemblies - rural/semi-rural constructions

12	 ARSemblies - coastal pole constructions

14	 Individual components

14	 Crossarms

15	 Fuse cartridges

15	 Cable

16	 Fuses

16	 Lugs and links

17	 Covers and guard

18	 Earthing

19	 Nuts and bolts

20	 Ties

20	 Assorted metalwork



4 www.ars.com.au

11kV Transformers

Single Wire Earth Return (SWER)

Description Stockcode

ENDPT 11KV  25KVA 1P TANK 03345

ENDPT 11KV  50KVA 1P TANK 03346

ENDPT 11KV  25KVA 3P TANK 02400

ENDPT 11KV  63KVA 3P TANK 02401

ENDPT 11KV  100KVA 3P TANK 02402

ENDPT 11KV  200KVA 3P TANK 03567

ENDPT 11KV  315KVA 3P TANK 02572

ENDPT 11KV  400KVA 3P TANK 08354

Description Stockcode

ENDPT 12.7kV 25kVA SWER 04127

Pole Transformer Dressing Kits
Description Stockcode

ENDPT 3PH DRESSING SET 100/200/315KVA A0650

ENDPT 3PH DRESSING SET 25/63KVA A0651

ENDPT 1PH DRESSING SET 25/50KVA A0652

ENDPT SWER DRESSING SET 12.7kV 25 KVA A3743

Transformers



5Endeavour pole-mounted transformers



6 www.ars.com.au

2. Substation Pole Construction

3. Pole Substation + Dressing Set

3. Transformer Hanging Brackets

Description Code Buy Unit Unit of Measure

END URBAN 11KV 3PH POLE SUB, BARE LV WOOD POLE A0840 1 Unit Kit

END URBAN 11KV 3PH POLE SUB, BARE LV CONCRETE POLE A0841 1 Unit Kit

END URBAN 11KV 3PH POLE SUB, LV ABC WOOD POLE A0842 1 Unit Kit

END URBAN 11KV 3PH POLE SUB, LV ABC CONCRETE POLE A0843 1 Unit Kit

Description Stockcode Dressing Set

ENDPT 11KV 25KVA 1 PHASE 03345 A0652

ENDPT 11KV 50KVA 1 PHASE 03346 A0652

ENDPT 11KV 25KVA 3 PHASE 02400 A0651

ENDPT 11KV 63KVA 3 PHASE 02401 A0651

ENDPT 11KV 100KVA 3 PHASE 02402 A0650

ENDPT 11KV 200KVA 3 PHASE 03567 A0650

ENDPT 11KV 315KVA 3 PHASE 02572 A0650

ENDPT 11KV 400KVA 3 PHASE 08354 A0650

Description Code Buy Unit Unit of Measure

BRACKET,POLE TX SUPPORT TO 63KVA, BOLTED 05574 1 Unit Each

BRACKET,POLE TX SUPPORT 100KVA+, BOLTED 02164 1 Unit Each

BRACKET,POLE TX SUPPORT 100KVA+, STRAP 03959 1 Unit Each

1. HV Overhead Construction
The high voltage overhead construction for the top of the transformer pole will depend on the 
construction design, for example ‘B21’. Contact your nearest All Round Supplies branch for your range 
of MV Overhead ARSemblies.

HV DOF elements and LV HRC fuse cartridges are sold separately as required.
For transformers 300kVA and above, additional 120mm2 SDI cable (00516) and lugs (00148) are required.

05574 – Hanging bracket for up to 63kVA transformer on concrete poles where mounting holes exist.
02164 – Hanging bracket for 100kVA and above transformers on wood/concrete poles where mounting holes exist.
03959 – Hanging bracket for 100kVA and above transformers on concrete poles where no mounting holes exist.

Urban Pole Substation
ARSemblies



7Endeavour pole-mounted transformers

©
 A

ll 
Ro

un
d 

Su
pp

lie
s 

Pt
y 

Lt
d,

 2
01

3.
 A

ll 
Ri

gh
ts

 R
es

er
ve

d.
 T

hi
s 

di
ag

ra
m

 is
 fo

r i
llu

st
ra

tiv
e 

pu
rp

os
es

 o
nl

y.

1. HV Overhead Construction

2. Substation Pole Construction

3. Pole Substation + Dressing Set
    Transformer Hanging Brackets

NOTE: ARSemblies exclude the pole tranformer and dressing kit. 
Also excludes conductor specific fittings (e.g. preform deadends) 
and any kingbolts or eyebolts used to attach fittings to the pole.



8 www.ars.com.au

2. Substation Pole Construction

3. LV ABC Mains Fuse/Switch

Description Code Buy Unit Unit of Measure

IE RURAL 11KV 3PH POLE SUB, NO LV WOOD A0850 1 Unit Kit

IE RURAL 11KV 3PH POLE SUB, NO LV CONC A0851 1 Unit Kit

IE RURAL 11KV 1PH POLE SUB, NO LV WOOD A0852 1 Unit Kit

IE RURAL 11KV 1PH POLE SUB, NO LV CONC A0853 1 Unit Kit

Description Code Buy Unit Unit of Measure

BRACKET, HV LINK LONG 00438 1 Unit Each

CLAMP, STRAIN/TERM LV ABC 4X50-95 02584 1 Unit Each

CLAMP, STRAIN/TERM LV ABC 4X95-150 00467 1 or Pack of 15 Each

SWITCH, LV ABC 3PH 400AMP 25-150 IPC 06662 1 Unit Each

1. HV Overhead Construction
The high voltage overhead construction for the top of the transformer pole will depend on the 
construction design, for example ‘B21’. Contact us for your range of MV Overhead ARSemblies.

HV DOF elements are sold separately as required.

LV DIN2  insulated tag fuse cartridges are sold separately as required.

Rural/Semi-Rural Pole 
Substation ARSemblies

4. Pole Substation + Dressing Set

Description Stockcode Dressing Set

ENDPT 11KV 25KVA 1 PHASE 03345 A0652

ENDPT 11KV 50KVA 1 PHASE 03346 A0652

ENDPT 11KV 25KVA 3 PHASE 02400 A0651

ENDPT 11KV 63KVA 3 PHASE 02401 A0651

ENDPT 11KV 100KVA 3 PHASE 02402 A0650

ENDPT 11KV 200KVA 3 PHASE 03567 A0650

ENDPT 11KV 315KVA 3 PHASE 02572 A0650

ENDPT 11KV 400KVA 3 PHASE 08354 A0650



9Endeavour pole-mounted transformers

4. Transformer Hanging Brackets

5. Service Fuse/Switch

Description Code Buy Unit Unit of Measure

BRACKET,POLE TX SUPPORT TO 63KVA, BOLTED 05574 1 Unit Each

BRACKET,POLE TX SUPPORT 100KVA+, BOLTED 02164 1 Unit Each

BRACKET,POLE TX SUPPORT 100KVA+, STRAP 03959 1 Unit Each

Description Code Buy Unit Unit of Measure

SWITCH,LV ABC 1PH 100AMP 02171 1 Unit Each

BRACKET, TO SUIT SWITCH LV ABC 1PH 100A 02172 1 Unit Each

FUSE, LINK CARTRIDGE 100A HRC TYPE RH 02414 1 Unit Each

Low voltage circuit-breaker switchgear is also available 
on request. Maximum 1250/1000AMP (set to Integral 
Energy specifications). 

Includes 8mm insulating panel 600 x 900, 4 off P1000 
Unistrut Mounting Rails, netrual bar to suit Meter Box/Pole 
mounted installation. Does not include Meter Box.

03365

NOTE: ARSemblies exclude the pole tranformer and dressing kit. Also excludes conductor specific fittings (e.g. preform deadends) and any kingbolts 
or eyebolts used to attach fittings to the pole.



10 www.ars.com.au

1. HV Overhead Construction

4. Pole Substation + Dressing Set
    Transformer Hanging Brackets

2. Substation Pole Construction

2
M
IN

3. LV ABC Mains Fuse/Switch

5. Service Fuse/Switch

©
 A

ll 
Ro

un
d 

Su
pp

lie
s 

Pt
y 

Lt
d,

 2
01

3.
 A

ll 
Ri

gh
ts

 R
es

er
ve

d.
 T

hi
s 

di
ag

ra
m

 is
 fo

r i
llu

st
ra

tiv
e 

pu
rp

os
es

 o
nl

y.

Rural/Semi-Rural Pole 
Substation ARSemblies



11Endeavour pole-mounted transformers



12 www.ars.com.au

Description Code Buy Unit Unit of Measure

END COAST 11KV 3PH POLE SUB, BARE LV WOOD POLE A0868 1 Unit Kit

2. Substation Pole Construction

1. HV Overhead Construction
The high voltage overhead construction for the top of the transformer pole will depend on the 
construction design, for example ‘B21’. Contact us for your range of MV Overhead ARSemblies.

HV DOF elements and LV HRC fuse cartridges are sold separately as required.
For transformers 300kVA and above, additional 120mm2 SDI cable (00516) and lugs (00148) are required.

3. Transformer Hanging Brackets

4. Service Fuse/Switch

Description Code Buy Unit Unit of Measure

BRACKET,POLE TX SUPPORT TO 63KVA, BOLTED 05574 1 Unit Each

BRACKET,POLE TX SUPPORT 100KVA+, BOLTED 02164 1 Unit Each

BRACKET,POLE TX SUPPORT 100KVA+, STRAP 03959 1 Unit Each

Description Code Buy Unit Unit of Measure

SWITCH,LV ABC 1PH 100AMP 02171 1 Unit Each

BRACKET, TO SUIT SWITCH LV ABC 1PH 100A 02172 1 Unit Each

FUSE, LINK CARTRIDGE 100A HRC TYPE RH 02414 1 Unit Each

05574 – Hanging bracket for up to 63kVA transformer on concrete poles where mounting holes exist.
02164 – Hanging bracket for 100kVA and above transformers on wood/concrete poles where mounting holes exist.
03959 – Hanging bracket for 100kVA and above transformers on concrete poles where no mounting holes exist.

Coastal Pole Substation
ARSemblies

3. Pole Substation + Dressing Set

Description Stockcode Dressing Set

ENDPT 11KV 25KVA 1 PHASE 03345 A0652

ENDPT 11KV 50KVA 1 PHASE 03346 A0652

ENDPT 11KV 25KVA 3 PHASE 02400 A0651

ENDPT 11KV 63KVA 3 PHASE 02401 A0651

ENDPT 11KV 100KVA 3 PHASE 02402 A0650

ENDPT 11KV 200KVA 3 PHASE 03567 A0650

ENDPT 11KV 315KVA 3 PHASE 02572 A0650

ENDPT 11KV 400KVA 3 PHASE 08354 A0650



13Endeavour pole-mounted transformers

1. HV Overhead Construction

3. Pole Substation + Dressing Set
    Transformer Hanging Brackets

2. Substation Pole Construction

5. Service Fuse/Switch

NOTE: ARSemblies exclude the pole tranformer and dressing kit. 
Also excludes conductor specific fittings (e.g. preform deadends) 
and any kingbolts or eyebolts used to attach fittings to the pole.

©
 A

ll 
Ro

un
d 

Su
pp

lie
s 

Pt
y 

Lt
d,

 2
01

3.
 A

ll 
Ri

gh
ts

 R
es

er
ve

d.
 T

hi
s 

di
ag

ra
m

 is
 fo

r i
llu

st
ra

tiv
e 

pu
rp

os
es

 o
nl

y.



14 www.ars.com.au

Individual Components

Crossarms

Description Code Buy Unit

CROSSARM,WOOD HV 100X100X1800 05434 1 or 36 Units

CROSSARM,WOOD HV 100X100X2700 05433 1 or 36 Units

CROSSARM,WOOD LV 100X100X2700 05418 1 or 36 Units

CROSSARM,WOOD LV 100X100X1465 05417 1 or 36 Units

CROSSARM,WOOD HV 100X100X2100 05431 1 or 36 Units

CROSSARM,WOOD LV 125X100X3000 05419 1 or 36 Units

CROSSARM,WOOD 200X100X1800 02647 1 or 36 Units

Gain Blocks

Description Code Buy Unit

GAIN BLOCK, 100MM CROSSARM 00383 1 or Bag of 25

GAIN BLOCK, 100MM TRANSFORMER/CROSSARM 00532 1 or Bag of 25

GAIN BLOCK, 125MM CROSSARM 02058 1 or Bag of 25

Arrester & Accessories

Description Code Buy Unit

BRACKET, 90 DEG SURGE DIVERTER PALM SS 05508 1 Unit

BRACKET, INSULATED SURGE DIVERTER (ABB) 05990 1 Unit

DIVERTER, SURGE 11KV POLYMERIC(POLE TOP) 00059 1 Unit

EARTH LEAD, SURGE DIVERTER 500MM 05991 1 Unit

Shroud

Description Code Buy Unit

COVER,OUTAGE PROTECT POLE TX - 3 ENTRY 02741 1 or Pack of 50

LV Fuse Switch/Disconnector

Description Code Buy Unit

LINK USL, ISOLATING LV 630A 1PH OPEN 00523 1 Unit

LINK USL, SWITCH/FUSE LV 400A 1PH OPEN 00522 1 Unit

SWITCH, LV ABC 3PH 400AMP 25-150 IPC 06662 1 Unit



15Endeavour pole-mounted transformers

Description Code Buy Unit

FUSE, LINK CARTRIDGE 100A 500V DIN 2 INS 00805 1 Unit

FUSE, LINK CARTRIDGE 160A 500V DIN 2 INS 03330 1 Unit

FUSE, LINK CARTRIDGE 200A 500V DIN 2 INS 02828 1 Unit

FUSE, LINK CARTRIDGE 250A 500V DIN 2 INS 00600 1 Unit

FUSE, LINK CARTRIDGE 315A 500V DIN 2 INS 02809 1 Unit

FUSE, LINK CARTRIDGE 400A 500V DIN 2 INS 00599 1 Unit

LINK, SOLID ABC SWITCH DIN 2 400/630 AMP 00804 1 Unit

FUSE, LINK CARTRIDGE 63A HRC OUTDOOR 03189 1 Unit

FUSE, LINK CARTRIDGE 80A HRC OUTDOOR 03188 1 Unit

FUSE, LINK CARTRIDGE 100A HRC OUTDOOR 02675 1 Unit

FUSE, LINK CARTRIDGE 160A HRC OUTDOOR 03187 1 Unit

FUSE, LINK CARTRIDGE 200A HRC OUTDOOR 02165 1 Unit

FUSE, LINK CARTRIDGE 250A HRC OUTDOOR 03186 1 Unit

FUSE, LINK CARTRIDGE 400A HRC OUTDOOR 00928 1 Unit

Fuse Cartridge

Cable

Description Code Buy Unit

CONDUCTOR, 7/2.75 (40) AAAC 11KV CCT GREY 02381 1 or 250 mtr

CABLE, LV 70 CU 1C XLPE/PVC NAT/BLACK 02142 1 or 100 mtr

CABLE, LV 70 CU 1C BARE 00207 1 or 100 mtr

CABLE, LV 95 AL 1C XLPE/PVC NAT/BLACK 04604 1 or 100 mtr

CABLE, LV 120 CU 1C XLPE/PVC NAT/BLACK 00516 1 or 100 mtr

ROD, HARD DRAWN CU 9.5MM DIA 3.6M 05501 1 Unit

Insulators

Description Code Buy Unit

INSULATOR,22KV POLYMER LONG ROD RND PIN 03842 1 Unit

INSULATOR,11KV CCT LONG STUD WIDE BODY 04662 1 Unit

INSULATOR, LV SHACKLE LARGE 00395 1 Unit

PIN, INSULATOR C/150/7-165 00401 1 Unit

INSULATOR, 22KV PIN TYPE AERO 00402 1 Unit



16 www.ars.com.au

Description Code Buy Unit

LUG, COMPRESSION 40 AL M12 1 HOLE 00739 1 Unit

LUG, COMPRESSION 70 CU M10 1 HOLE 02195 1 or Pack of 25

LUG, COMPRESSION 70 CU M12 1 HOLE 00016 1 or Pack of 25

LUG, COMPRESSION 120 CU M12 1 HOLE 00148 1 or Pack of 25

LUG, COMP INSUL 95 BI-METAL M12 1 HOLE 02953 1 Unit

LUG, COMP INSUL 150 BI-METAL M12 1 HOLE 03224 1 Unit

LINK, COMPRESSION 95 AL/70 CU 03870 1 Unit

SLEEVE, FULL TENS INSULATED 150 ABC 03149 1 Unit

SLEEVE, FULL TENS INSULATED 95 ABC E215 02375 1 Unit

EDO

Description Code Buy Unit

DOF ASSEMBLY, 12/24KV 8KA SILICONE 05727 1 Unit

Individual Components

Lugs and Links

Fuses

Description Code Buy Unit

FUSE, DOF ELEMENT 5A CLASS K 08365 1 or  Pack of 10

FUSE, DOF ELEMENT 8A CLASS K 08366 1 or  Pack of 10

FUSE, DOF ELEMENT 10A CLASS K 08367 1 or  Pack of 10

FUSE, DOF ELEMENT 16A CLASS K 08368 1 or  Pack of 10

FUSE, DOF ELEMENT 20A CLASS K 08358 1 or  Pack of 10

FUSE, DOF ELEMENT 25A CLASS K 08359 1 or  Pack of 10

FUSE, DOF ELEMENT 31.5A CLASS K 06525 1 or  Pack of 10

Brackets

Description Code Buy Unit

BRACKET,POLE TX SUPPORT TO 63KVA, BOLTED 05574 1 Unit

BRACKET,POLE TX SUPPORT 100KVA+, BOLTED 02164 1 Unit

BRACKET,POLE TX SUPPORT 100KVA+, STRAP 03959 1 Unit



17Endeavour pole-mounted transformers

Banding

Description Code Buy Unit

STRAP/BAND, STAINLESS STEEL 19.05MM 02168 Roll-30.5m

BUCKLE, 19.05MM FOR S/S STRAP/BAND 02770 1 or Pack of 100

TOOL, BAND-IT FOR 6-19MM S/S STRAP/BAND 02771 1 Unit

Covers/Guard

Pole Steps

Description Code Buy Unit

BATTEN, EARTH PLASTIC 03280 1 or Pack of 25

TAPE, MARKER - ELECTRICAL 00108 Roll-500m

COVER GUARD, POLE PLASTIC BLACK 1.55m 02713 1 or Pack of 40

Description Code Buy Unit

POLE, STEP WOOD GALV STEEL SCREW-IN 08613 1 or Bag of 30

POLE, STEP CONCRETE GALV STEEL M16 02426 1 or Bag of 25

Description Code Buy Unit

CLAMP, PG 7/2.50-19/3.75 AL 2B PS SS 00052 1 or Pack of 10

CLAMP, STRAIN/TERM LV ABC 4X95-150 00467 1 or Pack of 15

CONNECTOR, SPLIT BOLT B26 95 BRASS 00246 1 or Pack of 20

Cable Saddles

Description Code Buy Unit

SADDLE, 16MM GALV STEEL 00259 1 or Pack of 100

SADDLE, 50MM GALV STEEL 00979 1 or Pack of 50

Clamps/Connectors



18 www.ars.com.au

Earthing Equipment

Description Code Buy Unit

COMPOUND, EARTH 12KG - GEM-25A 04601 1 bag - 12kg

COMPOUND, EARTH 20KG - EARTHRITE 01035 1 bag - 12kg

CONNECTOR "C" CABLE 50-70 WIDE JAW 03967 1 or Pack of 50

CONNECTOR "C" CABLE 95 WIDE JAW 02139 1 or Pack of 25

CONNECTOR "C" CABLE 120 CONVENTIONAL 02598 1 Unit

CONNECTOR "6" ROD 13-15 TAP 70 02138 1 Unit

COUPLER, 15MM EARTH ROD CU POINTED 02141 1 or Pack of 25

ROD, EARTH CU BONDED 15MM 2.44M POINTED 00254 1 Unit

TOOL, CADWELD CHAIN HANDLE CLAMP B160V 05306 1 Unit

TOOL, CADWELD MOULD HANDLE CLAMP SMALL 02791 1 Unit

TOOL, CADWELD MOULD HANDLE CLAMP LARGE 06944 1 Unit

TOOL, CONTROL UNIT CADWELD PLUS 02845 1 Unit

TOOL, DUXSEAL CADWELD MOULD 05461 1 Unit

TOOL, MACHINE DRIVING HEAD KANGO TAPERED 05246 1 Unit

TOOL, REPLACEMENT LEAD CADWELD PLUS 05787 1 Unit

TOOL, SOFT BRUSH CADWELD MOULD 04944 1 Unit

WELD METAL, CADWELD PLUS F20-65 02841 1 or Pack of 20

WELD METAL, CADWELD PLUS F20-90 02842 1 or Pack of 10

WELD METAL, CADWELD PLUS F20-115 02843 1 or Pack of 10

WELD METAL, CADWELD PLUS F20-150 02844 1 or Pack of 10

WELD METAL, CADWELD PLUS F20-200 03537 1 or Pack of 10

WELD METAL, CADWELD PLUS F20-250 04943 1 or Pack of 10

WELD METAL, CADWELD PLUS F20-500 06927 1 or Pack of 10

Conduit

Description Code Buy Unit

CONDUIT, TERMINATOR 20MM 90 DEGREE 03488 1 or Pack of 20

CONDUIT, 50MM 30M ROLL PVC FLEXIBLE GREY 00228 1 or Roll of 30

CONDUIT, 19MM POLY/IRRIGATION BLACK 00988 1 or Roll of 200

CONDUIT, TERMINATOR 20MM STRAIGHT 03487 1 or Pack of 20

Individual Components



19Endeavour pole-mounted transformers

Bolts - Galvanised

Description Code Buy Unit

BOLT, HD M12 X 100MM GAL 00396 1 or Pack of 100

BOLT, HD M12 X 130MM GAL 00388 1 or Pack of 100

BOLT, HD M12 X 180MM GAL 00441 1 or Pack of 50

BOLT, HD M12 X 260MM GAL 03274 1 or Pack of 50

BOLT, HD M16 X 180MM GAL 00566 1 or Pack of 30

BOLT, HD M20 X 180MM GAL 00789 1 or Pack of 25

Washers/Nuts - Galvanised

Description Code Buy Unit

WASHER, M16, ROUND, GAL 00498 1 or Pack of 200

WASHER, M16, ROUND, GAL 50 X 4MM 03263 1 or Pack of 100

WASHER, M16, SPRING, GAL 03268 1 or Box of 200

WASHER, SQR FLAT (50X50) M12 GALV STEEL 00391 1 or Bag of 100

WASHER, SQR FLAT (50X50) M16 GALV STEEL 00392 1 or Bag of 100

WASHER, SQR FLAT (75X75) M20 GALV STEEL 00390 1 or Bag of 100

NUT, M16, HEX, GAL 02561 1 or Box of 50

NUT, EYE M20 GALV STEEL 00428 1 or Box of 20

Coachscrews - Galvanised

Description Code Buy Unit

SCREW, COACH M12 75MM 00363 1 or Pack of 25

SCREW, COACH M12 100MM 00389 1 or Pack of 25

SCREW, COACH M16 100MM 00726 1 or Pack of 25

SCREW, COACH M16 130MM 02897 1 or Pack of 25



20 www.ars.com.au

Set Screws Stainless Steel & TEK

Bolts Stainless Steel 

Description Code Buy Unit

SETSCREW, HEX HD M10 X 30 SS 03989 1 or Pack of 100

SETSCREW, HEX HD M10 X 40 SS 00748 1 or Pack of 100

SETSCREW, HEX HD M12 X 30 SS 02894 1 or Pack of 100

SETSCREW, HEX HD M12 X 40 SS 00017 1 or Pack of 50

SETSCREW, HEX HD M12 X 50 SS 00018 1 or Pack of 50

TEK SCREW, HEX 12G X 40MM TYPE 17 CL 3 03633 1 or Pack of 100

Description Code Buy Unit

BOLT, HD M20 X 400MM SS W/-NUT 00937 1 Unit

BOLT, HD M20 X 450MM SS W/-NUT 00938 1 Unit

BOLT, HD M20 X 500MM SS W/-NUT 00939 1 Unit

BOLT, HD M20 X 600MM SS W/-NUT 05273 1 Unit

BOLT, HD M20 X 700MM SS W/-NUT 06088 1 Unit

Washers/Nuts - Stainless Steel

Description Code Buy Unit

WASHER, M10, ROUND, SS 00357 1 or Pack of 100

WASHER, M10, SPRING, SS 00750 1 or Box of 100

WASHER, M12, ROUND, SS 00020 1 or Pack of 100

WASHER, M12, SPRING, SS 00751 1 or Pack of 100

WASHER, M20, ROUND, SS 02649 1 or Pack of 50

WASHER, M20, SPRING, SS 03271 1 or Pack of 100

NUT, M10, HEX SS 00358 1 or Box of 100

NUT, M12, HEX, SS 00019 1 or Box of 100

NUT, M20, HEX, SS 00753 1 or Pack of 50

COIL SPRING M12-M16 STAIN STEEL 00404 1 or Pack of 100

COIL SPRING M20-M24 STAIN STEEL 00403 1 or Pack of 100

Mastic

Description Code Buy Unit

MASTIC, SUPERSOFT 3KG DENSO 410 02565 1 Pack of 3kg

Individual Components



21Endeavour pole-mounted transformers

Ties

Description Code Buy Unit

WIRE, SIDE TIE CCT 80MM2 02204 1 Unit

Cable Ties

Description Code Buy Unit

NYLON 4.8 X 200 BLACK 03999 Pack of 100

NYLON 4.8 X 300 BLACK 06835 Pack of 100

NYLON 4.8 X 368 BLACK 06834 Pack of 100

NYLON 7.6 X 370 BLACK 06833 Pack of 100

NYLON 8 X 550 BLACK 06772 Pack of 100

Metalwork

Description Code Buy Unit

CROSSARM BRACE, 750MM IE 05429 1 Unit

DISC, PHASE INDICATOR (BLUE) 02001 1 Unit

DISC, PHASE INDICATOR (RED) 02002 1 or Pack of 250

DISC, PHASE INDICATOR (WHITE) 02003 1 Unit

STRAP, LV SHACKLE 00414 1 or Pack of 50

BRACKET, HV LINK LONG 00438 1 Unit

BRACKET, LV ABC STRAIN CLAMP SUPPORT 00490 1 Unit

SHACKLE, BOW 70KN M16 CLEVIS BOLT 00880 1 or Pack of 30

CHAIN, M10 GALVANISED 05992 per meter

Clouts

Description Code Buy Unit

CLOUT, 2.8MM X 40MM GALV -  2 KG TUB 00496 1 x 2kg Tub

CLOUT, 2.8MM X 25MM GALV -  2 KG TUB 02343 1 x 2kg Tub



22 www.ars.com.au

All Round Supplies
13 Progress Circuit, 
Prestons, NSW, 2170

P 1300 087 579
E sales@ars.com.au
W ars.com.au


